
 

 

 

 

 

 

 

Corollary: 1 

∆𝑩𝑫𝑪 ~ ∆ 𝑪𝑴𝑬 

𝑩𝑫

𝑪𝑴
=  

𝑫𝑪

𝑴𝑬
 

𝑫𝑪 × 𝑪𝑴 = 𝑩𝑫 × 𝑴𝑬 

𝑫𝑪𝟐 = 𝑩𝑫 × 𝑴𝑬 = 𝑩𝑫(𝑫𝑬 − 𝑶𝑫) 

Corollary: 2 

∆𝑩𝑵𝑭 ~ ∆ 𝑪𝑴𝑬 

∴
𝑩𝑵

𝑪𝑴
=  

𝑵𝑭

𝑴𝑬
=  

𝑩𝑭

𝑪𝑬
 

𝑩𝑵 × 𝑪𝑬 = 𝑪𝑴 × 𝑩𝑭 

⇒ 𝑩𝑫 × 𝑪𝑬 = 𝑩𝑭 × 𝑪𝑫  -----------------------(1) 

∆𝑨𝑫𝑪 ~∆𝑭𝑫𝑩 

∴
𝑨𝑫

𝑭𝑫
=

𝑫𝑪

𝑫𝑩
=

𝑨𝑪

𝑩𝑭
 

⇒ 𝑨𝑪 × 𝑩𝑫 = 𝑩𝑭 × 𝑪𝑫   ---------------------- (2) 

∆𝑨𝑩𝑫 ~∆𝑬𝑪𝑫 

Corollaries: 

1. 𝑫𝑪𝟐 = 𝑩𝑫 × 𝑴𝑬 = 𝑩𝑫(𝑫𝑬 − 𝑶𝑫) 

2. 𝑨𝑫 × 𝑩𝑪 = (𝑩𝑭 × 𝑪𝑫) + (𝑬𝑪 × 𝑩𝑫) 

3. 
𝑩𝑫

𝑫𝑭
+

𝑪𝑫

𝑬𝑫
= 𝟏 

4. 
𝟏

𝑨𝑬
+

𝟏

𝑨𝑭
=  

𝟏

𝑩𝑪
 

5. 𝑨𝑫𝟐 =  𝑩𝑪𝟐 + 𝑩𝑫 × 𝑫𝑪 



 

∴
𝑨𝑩

𝑬𝑪
=

𝑩𝑫

𝑪𝑫
=

𝑨𝑫

𝑬𝑫
 

𝑨𝑩 × 𝑪𝑫 = 𝑬𝑪 × 𝑩𝑫    ------------------------------ (3) 

(2) + (3) ⇒ (𝑨𝑪 × 𝑩𝑫) + (𝑨𝑩 × 𝑪𝑫) 

       = (𝑩𝑭 × 𝑪𝑫) +  (𝑬𝑪 × 𝑩𝑫) 

⇒ BC(𝑪𝑫 + 𝑩𝑫) =  (𝑩𝑭 × 𝑪𝑫) + (𝑬𝑪 × 𝑩𝑫) 

⇒ 𝑨𝑫 × 𝑩𝑪 = (𝑩𝑭 × 𝑪𝑫) +  (𝑬𝑪 × 𝑩𝑫) 

 

Corollary: 3 

In the current month’s problem, we have proved,  

𝑨𝑫𝟐 = (𝑩𝑫 × 𝑫𝑬) + (𝑪𝑫 × 𝑫𝑭) ------------------(1) 

Now, 

∆𝑨𝑫𝑭 ~∆𝑬𝑫𝑨 

∴
𝑨𝑫

𝑬𝑫
=  

𝑫𝑭

𝑫𝑨
 

⇒  𝑨𝑫𝟐 = 𝑬𝑫 × 𝑫𝑭  --------------------------- (2) 

(1) & (2) ⇒ 

(𝑩𝑫 × 𝑫𝑬) + (𝑪𝑫 × 𝑫𝑭) =  𝑬𝑫 × 𝑫𝑭 

⇒ (𝑩𝑫 × 𝑫𝑬) + (𝑪𝑫 × 𝑫𝑭) = 𝑬𝑫 × 𝑫𝑭 

⇒
(𝑩𝑫 × 𝑫𝑬) + (𝑪𝑫 × 𝑫𝑭)

𝑬𝑫 × 𝑫𝑭
= 𝟏 

⇒  
𝑩𝑫

𝑫𝑭
+

𝑪𝑫

𝑬𝑫
= 𝟏 

 



 

 

Corollary: 4 

We know from the previous corollary,  

𝑩𝑫

𝑫𝑭
+

𝑪𝑫

𝑬𝑫
   ---------------------- (1) 

Now, ∆𝑬𝑩𝑨 ~ ∆𝑬𝑪𝑫 

∴  
𝑬𝑩

𝑬𝑪
=

𝑨𝑩

𝑪𝑫
=

𝑬𝑨

𝑬𝑫
 

⇒  
𝑨𝑩

𝑨𝑬
=  

𝑪𝑫

𝑬𝑫
 ---------------(2) 

∆ 𝑭𝑨𝑪 ~∆ 𝑭𝑫𝑩 

∴  
𝑭𝑨

𝑭𝑫
=

𝑨𝑪

𝑩𝑫
=

𝑭𝑪

𝑭𝑩
 

⇒  
𝑨𝑪

𝑨𝑭
=

𝑩𝑫

𝑫𝑭
  -------------------------(3) 

(2)& (3) ⇒ 

𝑨𝑩

𝑨𝑬
+

𝑨𝑪

𝑨𝑭
=

𝑪𝑫

𝑬𝑫
+

𝑩𝑫

𝑫𝑭
  ---------------------- (4) 

(1) & (4) ⇒ 

𝑨𝑩

𝑨𝑬
+

𝑨𝑪

𝑨𝑭
= 𝟏 

⇒ 𝑩𝑪 [
𝟏

𝑨𝑬
+

𝟏

𝑨𝑭
] = 𝟏           (∵ 𝑨𝑩 = 𝑨𝑪 = 𝑩𝑪) 

⇒  
𝟏

𝑨𝑬
+

𝟏

𝑨𝑭
=  

𝟏

𝑩𝑪
 

 



 

 

 

Corollary: 5 

Construction: 

Join MN.  BN ∥ 𝑪𝑵 = 𝑩𝑫 + 𝑪𝑫 = 𝑨𝑫  ----------------------(1) 

BNMC is concyclic & an isosceles trapezium 

∴ 𝑨s per Ptolemy’s theorem, 

𝑩𝑴 × 𝑪𝑵 = 𝑩𝑪 × 𝑴𝑵 + 𝑩𝑵 × 𝑪𝑴 

⇒  𝑨𝑫𝟐 =  𝑩𝑪𝟐 + 𝑩𝑫 × 𝑫𝑪 

 

 

 


